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Welghting: 15% of Assessment Mark.

STUDENT NAME:_’/

e

N\

s MARK: /55
) TIME ALLOWED: 45 minutes.
Section 1: Number and Multiple Choice ‘ /10
Section 2: Percentages ' . . /15
Section 3: Algebra ' ' /30

/

DIRECTIONS:

* Answer all questions.

* Show all necessary working where more than one mark is allocated to a question,
e Full marks will not be awarded for answers only.

* Marks may not be awarded for careless or badly arranged work.

* Calculators are allowed and SHOULD BE USED

Section 1- Number

Question 1: Answer the following using your calculators.

(10 marks)

1 mark each

~5-i0 _ b. Write irf descending order: ’—T
8+4
5.5%, 0.05, 1.5
/"** T —
c. 7t — /1000 4 10 :// ) d. Complete the following:
. / 3y -
4 7 300
I
!
e. {(4—16)+(—6x2)}+9= f. List all prime numbers between 30 and 50.
) —_
i
/ |
/ i
- /
_ Question 2: Circle the correct response 1 mark each
a. When 1.3563 is rounded to 2 decimal places the result is
A1 B. 1.35 C. 136 D. 2.0
b. When 6(m — 1) Is expanded the result is:
A bm—6 B.6m—1 cCm=-=6 D.6m-—36 -
¢. When —10m — —4m is simplified the result is:
A —14m B. —6m? T Co—6m D. mé
d. The quotient of 216 and 8is:
A0 B. 224 “co27 . D. 1728




Section 2- Percentages

- (15marks)

Question 1: 1 mark each
a. Write 2.13 as a percent. - c. Convert 55% to a fraction in Its simpJést form.

—— "///

S

y

/-
a -

/ .

b. Write 14.5% as a decimal

/ /',
y

d. Convert %to a percentage, correct tq}}ﬂ‘éc.pl.

Question 2:

1 mark each

a. Find 19%% of $230

¢. Decrease 70kg by 52%

b. Increase 625g by 34%

d. Jack scored 36 out of 55; What is his mark as a
percentage?

Question 3

2 marks

Michael paid $55 000 for a car he later sold it to Jane for 80% of what he pald. Afterwards Jane sold
It to her friend for 75% of what she paid Michael. What was Jane’s selling price?

1

2 marks
Question 4

A car salesman gains a commission of 8% of the price of every car he sells. What commission will he
receive if he sells two cars for 5135000 each?

! ——

N
- 1 mark
Question 5
: A
| Express 800 metres as a percentage of a kilometre.
2 marks

i Question 6

Fck purchased a painting for $3420, he later sold it and made a profit of $1230. Calculate his profit

as a percentage of the selling price.




Sectjon 3- Algebra

Question 1: Simplify the following

(29 marks)

1 mark each

;r_\ o N i WP+
a, 4m+15m—3 c. C9k+ k- kq+ 12 e. 025x 1.2y
’ e o — ,,)1,4,‘,_‘/‘- e
. , '
d. —2mp x (—4mn) f.8m+2

Question 2: Simplify completely {Show all working)

2 marks each

ix8m
10m

’b. 6% 4n?+12n

(2ab)?
c. —
ab

Question 3 (show all working) 2. mark each
ifn=-2 andm=>5, calculate:l
n?+1
a. nm C.
m
b. 2n—6m d vm—-n+2

Question 4

3 marks

a. Write an expression for the perimeter of the shape below

4m

]

bm+2

b. If the perimeter is equal to 47cm, find the value of m

v

Question 5 1 mark each

b. Simplify 3XyXxmxXmX—4 using

a. Write 4y3m5 In expanded form:
: index notation:

1
|
|

Question 6 - 5 marks

Expand and simplify: : .
a. 2(m—4) . : .

!

b, —3(m—5)+9

¢3(m—2)+4(m-—2)
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Section 1- Number (10 marks)
Question 1: Answer the following using your calculators. 1 mark each
- ‘ — 1

o L
N4

b. Write in descending order:

5.5%, 0.05, 1.5

] 5.5.5%#0.05 o

Section 2- Percentages

Question 1:

+ (15marks)

1 mark each

a. Write 2.13 as a percent.

213%

™

¢. Convert 55% to a fraction in its simpjést form.
1

—

0

. 74 — 1000 + 10 = Q940

o

d. Complete the following:

3 _aas

4~ 300

P

v

b. Write 14.5% as a decimal

04145

d. Convert gto a percentage, correctto 1 'éc.pl.
72 7, -
. ]

.e'. {(4‘ 16) + (=6 X 2} +9=10

Ve

f. List all prime numbers between 30 and 50.
2 37 A3 37

Question 2:

1 mark each

Question 2; Circle the correct response

1 mark each

a. Find 19—}% of $230

94,27

c. Decrease 70kg by 52%

33/5 k%

Al B. 1.35

a. When 1.3563 is rounded to 2 decimal places the result is

D. 2.0 \/

C. 136

b. Increase 625g by 34%

¢33 /
_.g%?.S%

d. Jack scored 36 out of 55. What Is his mark as a
percentage?

b. When 6(m — 1) is expanded the result is:

B.em—1

C.;rﬁ—6 D.67l31_—36\/

¢. When —10m — —4m is simplified the result is:

A. —14m B. —6m?

Question 3

2 marks

d. The quotient of 216 and 8 is:

A0 B. 224

L

@

Michael paid $55 000 for a car he later sold it to Jane for 80% of what he paid. Afterwards Jane sold
it to her friend for 75% of what she pald Michael. What was Jane's selling price?

[ 0.8y 55000 = 4¢oo§

A :i%ri 000

R 0. 75 x 91090 = T 5CO0 //




Question 4

2 marks

A car salesman gains a commission of 8% of the price of everycar he sells. What comm
receive If he selis two cars for $45000 each?

1008 * 45000 _F3600
43660 % 023_&574510@ //
A:$?&OO

ssion will he

Question 5 ) ‘ : / - 1 mark
Express 800 metresas a percentage of a kilometre./
. o
F0 7o
Question 6 2 marks
) Jack purchased a painting for $3420, he later sold It and made a profit of $1230. Calculate his profit
- as a percentage of the selling price. .

| Profil- =fizao  Selligg prce = $465°

' , . - /230 o
Y, fage /.voﬁn‘ 43 £ = 446517)(/00’4

-y

i rZd
z 2697%

Section 3- Algebra

(29 marks)

Questidn 1: Simplify the following 1 mark each
TN ™ i
a. 4m+15m-3 c. GOk Kf— kA +12 e. 0.25x 1.2y
B - = J —ok™) 13k, / Ogla///
d. —2mp X (—4mn) f.8m+ 2

~&w% +n” /

S

4 7

L .
Question 2: Simplify completely (Show all working)

2 marks each

4X8m
& Tom .
[ 4-x = Sdm

a.Bth—',— 10 = 3. i

b, 6 X 4n%+12n

[ bxdn®= Un®

2.83%Fn> —
Y T i

. (2ab)?

A=dn

ab
e, O\Lz> *~ dob x dob= 4 02p?

#
2. 4a?b" 40\19
P

A =dab

&

Question 3 (show all working)

2 mark each

ffn=~2 andm = 5, calculate:

a. nm

[ Am==% % 5 =—0

A= —10
b. 2n—6m .
/19\ S(_a—:_ ——4 [~ —— -
a~6 x5~ 20 /4: .:34_ a‘:’\é\m /4_—

3-4-30-~ -3F




Question4 : ’ : " 3 marks

a. Write an expression for the perimeter of the shape below

4m . (“)P&‘IMG/(/‘
' - 4,,,+é,,.,;+:zm+3mkl
+ Sm+2

A\l

23 m + #

(b) 23m + 4 =47
. 23m = 43

b. if the peri}neter Is equal to 47cm, find the value of m -

Question 5 C o " 1 mark each

/ index notation:
4 x «g,xngg,xMmemxmxm L -

a. Write 4y3m® In expanded form: b. Simplify 3XyXmXxXmX—4 using

_/me}l : 1

Question 6 ’ . 5 marks

Expand and simplify: .
a. 2(m—4) '
= Axm— xF A=am-7 /
—dAm~-F '
b. —3(m—5)+9
& =P+ 15+F o ‘

= —Im + 24

c.3(m~2)+4(m-2)
2~ 3%@4— (Axm- 4x\

-é{'\



